

**Bid Tabulation** 

 $\textbf{Project:} \ \mathsf{Lids}, \ \mathsf{Bottoms}, \ \mathsf{Extensions}, \ \mathsf{Valves}, \ \mathsf{fittings}, \ \mathsf{Couplings} \ \& \ \mathsf{Misc.} \quad \mathsf{-} \quad \mathsf{Water/Irrigation}$ 

Bid Opening: March 19, 2015 @ 2:00 PM

Project No.: 11511
Contract Term: 1yr. (with 4 possible additional 1yr. Project Manager: Dave Brown, Water/Irrigation Mgr. Price Increase 03/30/2018

**Price Increase 07/04/2019** 

Price Increase 08/06/2019 Wednesday, March 18, 2020

**Contract Term:** 

	AWARD AND REASON THEREFORE:			Vendo	or Name	Vendor Name	
I recommend award of Schedule 1-5, 7-12, 16, & 18-20 to H.D. Fowler and Schedules 6, 10, 12-17 to H.D Supply Waterworks based on theirs being the most responsive.  Buyer/Date			HD Fowler		HD-Supply-Waterworks Core & Main		
No.	Description	Qty.	Unit	Unit Price	Total Price	Unit Price	Total Price
	SCHEDULE 1 -						
	Brand, Make, Model			M&H V	alve, C509	Clow, 26	539-F6103
1	M&H 4067, 2-inch SE gate valve, AWA, C509 non-rising stem, 2-inch square operating nut, open left, FIP X FIP ends.	5	Each	<del>260.31</del> 275.93	1,301.55 1,379.65	261.68	1,308.40
	Schedule	e 1 - Si	ubtotal:	213.33	1,301.55		1,308.40
	Scheduk	<i>C</i> 1 <i>S</i>	uototui.		1,379.65		1,000.40
	SCHEDULE 2	MI	X MI GA	ATE VALVES	.,0		
	Brand, Make, Model		,		e, C509/C515	Clow, 26	539-F6100
2	M&H C515, 3-inch gate valve, ductile iron body, epoxy coated, bronze "O" ring sealed non-rising stem, 2-inch square operating nut, open left operation, mechanical joint by mechanical joint ends, less accessories.	4	Each	381.72 404.62	1,526.88 1,618.48	400.94	1,603.76
3	M&H C515, 4-inch gate valves: ductile iron body, epoxy coated, bronze "O" ring sealed non-rising stem, 2-inch square operating nut, open left operation, mechanical joint by mechanical joint ends, less accessories.	4	Each	390.00	<del>1,560.00</del>	428.80	1,715.20
4	M&H C515, 6-inch gate valves ductile iron body, epoxy coated, bronze "O" ring sealed non-rising stem , 2-inch square operating nut, open left operation, mechanical joint by mechanical joint ends, less accessories.	4	Each	544.32 576.98	1,653.60 2,177.28 2,307.92	547.17	2,188.68
5	M&H C515, 8-inch gate valve ductile iron body, epoxy coated, bronze "O" ring sealed non-rising stem , 2-inch square operating nut, open left operation, mechanical joint by mechanical joint ends, less accessories.	4	Each	866.98 919.00	3,467.92 3,676.00	867.85	3,471.40
6	M&H C515, 12-inch gate valve, ductile iron body, epoxy coated, bronze "O" ring sealed non-rising stem , 2-inch square operating nut, open left operation, mechanical joint by mechanical joint ends, less accessories.	4	Each	<del>1710.62</del> 1813.26	6,842.48 7,253.04	1,719.58	6,878.32
	Schedule	e 2 - Si	ubtotal:		<del>15,574.56</del> 16,509.04		15,857.36

Fowle	ecommend award of Schedule 1-5, 7-12, 16, & 18-20 to H.D. owler and Schedules 6, 10, 12-17 to H.D Supply Waterworks used on theirs being the most responsive.			HD Fowler		HD Supply Waterworks Core & Main	
	Buyer/Date	T ANC	FD V M	I CATE WALL	TCC		
	SCHEDULE 3 F	LANG	ED A M				
_	M&H C515, 4-inch gate valve, ductile iron body, epoxy coated, bronze "O" ring sealed non-rising				alve, C515		639-F6106
7	stem, 2-inch square operating nut, open left operation, flanged by mechanical joint ends, less accessories.	2	Each	407.24	814.48	409.37	818.74
	M9H 0515 ( : 1			431.67	863.34		
8	M&H C515, 6-inch gate valve, ductile iron body, epoxy coated, bronze "O" ring sealed non-rising stem, 2-inch square operating nut, open left operation, flanged by mechanical joint ends, less accessories.	2	Each	4 <del>97.67</del>	995.34	547.17	1,094.34
	MON 0515 0 1 1 1 1 1 1 1 1 1 1			527.53	1,055.06		
9	M&H C515, 8-inch gate valve, ductile iron body, epoxy coated, bronze "O" ring sealed non-rising stem, 2-inch square operating nut, open left operation, flanged by mechanical joint ends, less accessories	2	Each	<del>777.67</del>	<del>1,555.3</del> 4	855.03	1,710.06
	accessories			824.33	1,648.66		
10	M&H C515, 12-inch gate valve, ductile iron body, epoxy coated, bronze "O" ring sealed non-rising stem, 2-inch square operating nut, open left operation, flanged by mechanical joint ends, less accessories.	1	Each	1632.24	1,632.24	1,640.79	1,640.79
				1730.17	1,730.17		
	Schedul	e 3 - S	ubtotal:		4,997.40		5,263.93
					5,297.23		
	SCHEDULE 4 FLANGEI	X FL	ANGED	DUCTILE IR	ON VALVES		
	Brand, Make, Model			M&H Valve	e, C509/C515	Clow, 2	639-F6102
11	M&H C515, 3-inch gate valve, ductile iron body, epoxy coated, bronze "O" ring sealed non-rising stem, hand wheel, open left operation, flanged by flanged ends.	6	Each	<del>378.44</del>	<del>2,270.6</del> 4	380.42	2,282.52
				401.15	2,406.90		
12	M&H C515, 4-inch gate valve, ductile iron body, epoxy coated, bronze "O" ring sealed non-rising stem, hand wheel, open left operation, flanged by flanged ends.	4	Each	4 <del>22.92</del>	<del>1,691.68</del>	425.13	1,700.52
				448.30	1,793.20		
	Schedul	e 4 - S	ubtotal:		<del>3,962.32</del>		3,983.04
					4,200.10		
	SCHEDULE 5 I	ијХМ	J BUTT				
	Brand, Make, Model		1	M&H V	alve, 150B	Clov	v, 4500
13	M&H C504, 12-inch butterfly valves, ductile iron body, epoxy coated, 2-inch square operating nut, open left operation, mechanical joint by mechanical joint ends, less accessories.	2	Each	1031.25	<del>2,062.50</del>	1,310.99	2,621.98
	Schedul	e 5 - S	ubtotal:	1093.13	2,186.26 2,062.50 2,186.26		2,621.98

I recommend award of Schedule 1-5, 7-12, 16, & 18-20 to H.D. Fowler and Schedules 6, 10, 12-17 to H.D Supply Waterworks based on theirs being the most responsive.

**HD Fowler** 

HD Supply Waterworks
Core & Main

Buyer/Date

	Buyer/Date						
	SCHEDULE						,
	*Nominal Pipe size provided for pricing purpose	es. Spe	ecific O.		to be determine c, FTS420		
	Brand, Make, Model 6" x 4" Romac FTS420 Tapping Sleeve, Ductile						c, FTS420
14	Iron/Cast Iron O.D. x Branch Ductile Iron Flange.	3	Each	<del>376.12</del>	<del>1,128.36</del>	324.88	974.64
				400.57 426.61	<del>1,201.71</del> 1,279.83	367.11	1,101.33
15	6" x 6" Romac FTS420 Tapping Sleeve, Ductile Iron/Cast Iron O.D. x Branch Ductile Iron Flange.	3	Each	441.48	1,324.44	<del>381.3</del> 4	1,144.02
	non-cast non G.D. A Branch Buchle non Flange.			<del>470.18</del> 500.74	<del>1,410.54</del> 1,502.22	430.89	1,292.67
16	8" x 4" Romac FTS420 Tapping Sleeve, Ductile	3	Each	409.45	1,228.35	353.67	1,061.01
	Iron/Cast Iron O.D. x Branch Ductile Iron Flange.			4 <del>36.06</del>	<del>1,308.18</del>	399.65	1,198.95
17	8" x 6" Romac FTS420 Tapping Sleeve, Ductile	4	Б. 1	464.40	1,393.20	202.00	4 505 60
17	Iron/Cast Iron O.D. x Branch Ductile Iron Flange.	4	Each	446.81 475.85	<del>1,787.24</del> <del>1,903.40</del>	<del>383.92</del> 433.83	1,535.68 1,735.32
	8" x 8" Romac FTS420 Tapping Sleeve, Ductile			506.78	2,027.12	400.00	1,700.02
18	Iron/Cast Iron O.D. x Branch Ductile Iron Flange.	3	Each	<del>561.49</del>	<del>1,684.47</del>	4 <del>82.46</del>	<del>1,447.38</del>
				<del>597.99</del> 636.86	<del>1,793.97</del> 1,910.58	545.18	1,635.54
19	12" x 4" Romac FTS420 Tapping Sleeve, Ductile Iron/Cast Iron O.D. x Branch Ductile Iron Flange.	2	Each	<del>445.46</del>	<del>890.92</del>	<del>384.78</del>	<del>769.56</del>
				<del>474.41</del> 505.25	<del>948.82</del> 1,010.50	434.80	869.60
20	12" x 6" Romac FTS420 Tapping Sleeve, Ductile	2	Each	486.82	973.64	420.49	840.98
	Iron/Cast Iron O.D. x Branch Ductile Iron Flange.			<del>518.46</del>	1,036.92	475.15	950.30
21	12" x 8" Romac FTS420 Tapping Sleeve, Ductile	4	Each	552.16 620.17	1,104.32 2,480.68	532.89	<del>2,131.56</del>
	Iron/Cast Iron O.D. x Branch Ductile Iron Flange.		Euch	660.48	<del>2,641.92</del>	602.17	2,408.68
22	12" x 12" Romac FTS420 Tapping Sleeve, Ductile	1	Eash	703.41	2,813.64	010 10	010 10
22	Iron/Cast Iron O.D. x Branch Ductile Iron Flange.	'	Each	940.27 1001.39	<del>940.27</del> <del>1,001.39</del>	8 <del>12.18</del> 914.46	<del>812.18</del> 914.46
		( 0	1 1	1066.48	1,066.48	011110	
	Schedul	e 6 - S	ubtotai:		<del>12,438.37</del> <del>13,246.85</del>		<del>10,717.01</del> 12,106.85
				14,107.89			12,100.00
	SCHE	EDULE	7 TI				
	Brand, Make, Model  [3" Flange x 3" Flange x 3" Branch Flange Ductile	1	I	Tyler Unio	n, C110/C153	Tyle	r Union
23	Iron Tee (Cement Lined).	6	Each	<del>47.71</del>	<del>286.26</del>	67.59	405.54
24	4" Flange x 4" Flange x 4" Branch Flange Ductile	6	Each	54.87 135.53	329.22 813.18	134.11	804.66
24	Iron Tee (Cement Lined).	ľ	Lacii	155.86	935.16	104.11	004.00
25	6" Flange x 6" Flange x 6" Branch Flange Ductile Iron Tee (Cement Lined).	2	Each	169.14		169.14	338.28
	6" Flange x 6" Flange x 4" Branch Flange Ductile			194.51	389.02		
26	Iron Tee (Cement Lined).	1	Each	<del>187.03</del>	<del>187.03</del>	187.03	187.03
	6" Mechanical Joint x 6" Mechanical Joint x 6"			215.08	215.08		
27	Branch Mechanical Joint, Ductile Iron Tee (Cement Lined) less accessories.	1	Each	94.87	94.87	94.87	94.87
	8" Mechanical Joint x 8" Mechanical Joint x 8"			109.10	109.10		
28	Branch Mechanical Joint, Ductile Iron Tee (Cement	1	Each	142.58	142.58	142.58	142.58
	Lined) less accessories.			163.97	163.97		
29	8" Mechanical Joint x 4" Mechanical Joint x 8" Mechanical Joint, Ductile Iron Tee (Cement Lined) less accessories.	1	Each	102.46	<del>102.46</del>	102.46	102.46
	8" Mechanical Joint x 6" Mechanical Joint x 8"			117.83	117.83		
30	Mechanical Joint, Ductile Iron Tee (Cement Lined) less accessories.	1	Each	118.18	<del>118.18</del>	118.18	118.18
	12" Mechanical Joint x 12" Mechanical Joint x 12"			135.91	135.91		
31	Branch Mechanical Joint, Ductile Iron Tee (Cement Lined) less accessories.	1	Each	<del>284.61</del>	<del>284.61</del>	284.61	284.61
<u> </u>	Schedul	e 7 °	ubtotal	327.30	327.30 2,367.45		2,478.21
L	Schedul		uoioiai.		<del>2,367.43</del> 2,722.59		۷,410.21
					,		

Fowle	I recommend award of Schedule 1-5, 7-12, 16, & 18-20 to H.D. Fowler and Schedules 6, 10, 12-17 to H.D Supply Waterworks based on theirs being the most responsive.				Fowler	HD Supply Waterworks Core & Main		
	Buyer/Date							
		DULE	8 BE		- C110/C1F2	T. J.	u II.a.i.a.u	
	Brand, Make, Model 4"-45° Bend, Mechanical Joint x Mechanical Joint,			Tyler Unio	n, C110/C153	Tyte	r Union	
32	Ductile Iron (Cement Lined) less accessories.	4	Each	33.07 38.30	<del>132.28</del> 153.20		132.28	
33	6"-45° Bend, Mechanical Joint x Mechanical Joint, Ductile Iron (Cement Lined) less accessories.	2	Each	<del>53.13</del> 61.10	<del>106.26</del> 122.20		106.26	
34	8"-45° Bend, Mechanical Joint x Mechanical Joint, Ductile Iron (Cement Lined) less accessories.	2	Each	<del>77.53</del> 89.16	155.06		155.06	
35	12"-45° Bend, Mechanical Joint x Mechanical Joint, Ductile Iron (Cement Lined) less accessories.	2	Each	169.14	338.28		338.28	
36	4"-90° Bend, Mechanical Joint x Mechanical Joint, Ductile Iron (Cement Lined) less accessories.	1	Each	194.51 40.12	389.02 40.12		40.12	
37	6"-90° Bend, Mechanical Joint x Mechanical Joint, Ductile Iron (Cement Lined) less accessories.	1	Each	46.14 65.60	46.14 65.60		65.60	
38	4"-90° Bend, Mechanical Joint x Flange Ductile Iron (Cement Lined) less accessories.	1	Each	75.44 45.54			45.54	
39	6"-90° Bend, Mechanical Joint x Flange Ductile Iron	1	Eh	52.37	52.37		81.32	
39	(Cement Lined) less accessories.		Each	93.41	93.41		01.32	
40	3"-90° Bend, Flange x Flange, Ductile Iron (Cement Lined).	6	Each	<del>47.71</del> 54.87	286.26 329.22	47.21	283.26	
41	4"-90° Bend, Flange x Flange, Ductile Iron (Cement Lined).	6	Each	<del>74.27</del> 85.41	445.62 512.46		445.62	
42	6"-90° Bend, Flange x Flange, Ductile Iron (Cement Lined).	2	Each	<del>114.93</del> 132.17		114.93	229.86	
43	6"-22° Bend, Mechanical x Mechanical Ductile Iron (Cement Lined).	2	Each	48.79 56.11			97.58	
	Schedule				2,023.78 2,328.34	2,020.78		
	SCHEDU	ILE 9 -	ADA					
44	Brand, Make, Model  3" Mechanical Joint x 3" Flange Adapter, Ductile Iron (Cement Lined) less accessories.	2	Each	33.07		33.07	<i>r Union</i> 66.14	
45	4" Mechanical Joint x 4" Flange Adapter, Ductile Iron (Cement Lined) less accessories.	2	Each	38.03 37.95	75.90	37.95	75.90	
46	6" Mechanical Joint x 6" Flange Adapter, Ductile Iron (Cement Lined) less accessories.	2	Each	43.64 52.59 60.48	105.18	52.59	105.18	
47	8" Mechanical Joint x 8" Flange Adapter, Ductile Iron (Cement Lined) less accessories.	2	Each	<del>79.69</del> 91.64	159.38	79.69	159.38	
48	12" Mechanical Joint x 12" Flange Adapter, Ductile Iron (Cement Lined) less accessories.	1	Each	177.81	177.81	177.81	177.81	
	Schedule	e 9 - Si	ubtotal:	204.48	204.48 584.41 672.06		584.41	

I recommend award of Schedule 1-5, 7-12, 16, & 18-20 to H.D. Fowler and Schedules 6, 10, 12-17 to H.D Supply Waterworks based on theirs being the most responsive.					Fowler	HD Supply Waterworks Core & Main		
	Buyer/Date							
	SCHEDULE 10	CO	MPAN	ION FLANGE				
	Brand, Make, Model			Tyler U	nion, C110	Tyle	r Union	
49	3" Ductile Iron, 4-bolt hole Companion Flange, 7-1/2" O.D. Tapped 1-1/2" I.P. Thread (125#).	4	Each	43.37	173.48		59.20	
50	4" Ductile Iron, 8-bolt hole Companion Flange, 9" O.D. Tapped 2" I.P. Thread (125#).	6	Each	49.88 49.87	199.52 299.22		149.64	
51	4" Blind Flange x 2" FIPT Tap	4	Each	57.35 <b>49.87</b> 57.35	344.10 199.48 229.40	50.40	201.60	
52	4" Blind Flange	4	Each	34.16 39.28	136.64 157.12		201.60	
	Schedule	10 - S	ubtotal:	33.20	808.82 930.14		612.04	
	SCHED	ULE 1	1 HY	YMAX				
	Brand, Make, Model			HYMAX #2	000-0303-260	НҮМАХ, Ну	max Coupling	
53	2" Style Hymax (2.10-3.03)	4	Each	82.09	328.36		350.56	
	Schedule			D. 11100	328.36		350.56	
	SCHEDUI	E 12	COU		ac, 501	Dam	~~ 501	
	Brand, Make, Model 3" Style "501" Romac Coupling (3.50 x 4.00) (1-	l		Kom	ac, 501	Kom	ac, 501	
54	RO501MRS9, 2-RO501ERRS9, 2-RO501G400, 4-RO501B2X10).	4	Each	63.84	<del>255.36</del>	65.73	<del>262.92</del>	
	17. C. 1. 1501 II. D			67.99 <b>72.41</b>	271.96 289.64		297.08	
55	16" Style "501" - Romac (17.80 x 17.80) Straight Coupling (17.40 x 17.80) range Ductile Iron, Yellow Shopcoat, Stainless Steel nuts and bolts.	1	Each	4 <del>52.10</del>	4 <del>52.10</del>	<del>375.45</del>	<del>375.45</del>	
		12.0		4 <del>81.49</del> 512.79	512.79		424.26	
	Schedule	12 - Si	ubtotal:		<del>707.46</del>		638.37	
		** = 4		an o a	753.45 802.43		721.34	
	SCHEDI	JLE 13	3 MA		a Maaro	Domas	Маано ИВ	
	Brand, Make, Model 4" Macro 2-Bolt Coupling (4.40 - 5.60) NBR Gasket	1		Koma	c, Macro	котас,	Macro HP	
56	Inner Gasket Range (4.40 - 5.05) Outer Gasket Range (4.95-5.60)	6	Each	154.68	928.08		8 <del>74.62</del>	
	C"Marra 2 Pale Caralinas (CO 7 CO) NIPP Carlast			164.73 175.44	<del>988.38</del> 1,052.64		988.32	
57	6" Macro 2-Bolt Couplings (6.60-7.60) NBR Gasket Inner Gasket Range (6.60-7-15) Outer Gasket Range (7.10-7.60)	6	Each	204.12	<del>1,224.72</del>	192.37	<del>1,154.22</del>	
				210.62 224.31	<del>1,263.72</del> 1,345.86		1,304.28	
58	8" Macro 2-Bolt Coupling (8.60-9.75) NBR Gasket Inner Gasket Range (8.60-9.20) Outer Gasket Range (9.10-9.75)	4	Each	<del>231.16</del>	<del>924.6</del> 4	<del>218.99</del>	8 <del>75.9</del> 6	
				246.19 262.19	<del>984.76</del> 1,048.76	247.46	989.84	
59	10" Macro 2-Bolt Coupling (10.70-11.30 NBR Gasket Inner Gasket Range (10.70-11.30) Outer Gasket Range (11.25-11.90)	1	Each	299.00	<del>299.00</del>	<del>283.26</del>	<del>283.26</del>	
	10" Marca 2 Dale Camilia, 712 70 12 20 NDD			<del>318.44</del> 339.14	<del>318.44</del> 339.14	320.08	320.08	
60	12" Macro 2-Bolt Coupling (12.70-13.30) NBR Gasket Inner Gasket Range (12.70-13.30) Outer Gasket Range (13.15-13.80)	1	Each	<del>351.90</del>	<del>351.90</del>	<del>329.91</del>	<del>329.91</del>	
	6	12 ~	14 : 7	<del>374.77</del> 399.13	374.77 399.13		372.80	
	Schedule	13 - Si	ubtotal:		3,728.34 3,930.07 4,185.53		<del>3,517.97</del> 3,975.32	

I recommend award of Schedule 1-5, 7-12, 16, & 18-20 to H.D. Fowler and Schedules 6, 10, 12-17 to H.D Supply Waterworks based on theirs being the most responsive.

**HD Fowler** 

HD Supply Waterworks
Core & Main

Buyer/Date

## SCHEDULE 14 - - REPAIR CLAMPS

\*Nominal pipe size provided for pricing purposes. Unit Pricing Consists of every clamp within the normal pipe size (0.D. size range) X length. All

*INO	minal pipe size provided for pricing purposes. Unit Pricing Co clamp sizes to be per Romac SS1 chart standard O.D. size ra						
	Brand, Make, Model			Romac, SS1		Romac, SS1, OD Xlength	
61	Romac SS1, O.D. x specified length in the following size: 3" (3.45 - 4.00) x 6".	2	Each	<del>59.18</del>	118.36	41.56	8 <del>3.12</del>
				<del>65.68</del> 69.95	<del>131.36</del> 139.90	46.96	93.92
62	Romac SS1, O.D. x specified length in the following size: $3$ " (3.45 - 4.00) x 8".	2	Each	<del>73.14</del>	146.28	<del>51.36</del>	102.72
				<del>77.89</del> 82.95	<del>155.78</del> 165.90	58.04	116.08
63	Romac SS1, O.D. x specified length in the following size: 4" (4.45 - 5.60) x 6".	4	Each	66.11	<del>264.44</del>	4 <del>5.9</del> 4	<del>183.76</del>
				<del>70.41</del> 74.99	<del>281.64</del> 299.96	51.94	207.76
64	Romac SS1, O.D. x specified length in the following size: 4" (4.45 - 5.60) x 8".	4	Each	<del>82.50</del>	330.00	<del>57.92</del>	<del>231.68</del>
				<del>87.86</del> 93.57	<del>351.44</del> 374.28	65.45	261.80
65	Romac SS1, O.D. x specified length in the following size: 4" (4.45 - 5.60) x 12".	1	Each	131.04	<del>131.04</del>	92.01	<del>92.01</del>
				139.59 148.66	<del>139.59</del> 148.66	103.97	103.97
66	Romac SS1, O.D. x specified length in the following size: 4" (4.45 - 5.60) x 16".	1	Each	145.70	145.70	102.3	102.30
				155.17 165.26	<del>155.17</del> 165.26	115.60	115.60
67	Romac SS1, O.D. x specified length in the following size: 6" (5.95 - 7.80) x 6".	2	Each	<del>82.29</del>	<del>164.58</del>		<del>115.58</del>
				<del>87.64</del> 93.34	<del>175.28</del> 186.68	65.30	130.60
68	Romac SS1, O.D. x specified length in the following size: 6" (5.95 - 7.80) x 8"	4	Each	98.72	394.88		<del>277.28</del>
				<del>105.14</del> 111.97	<del>420.56</del> 447.88	78.33	313.32
69	Romac SS1, O.D. x specified length in the following size: 6" (5.95 x 7.80) x 12".	6	Each	<del>157.62</del>	<del>945.72</del>		660.66
				<del>167.86</del> 178.77	<del>1,007.16</del> 1,072.62	124.42	746.52
70	Romac SS1, O.D. x specified length in the following size: 6" (5.95 - 7.80) x 16".	3	Each	<del>173.84</del>	<del>521.52</del>		<del>366.2</del> 4
				<del>185.14</del> 197.17	<del>555.42</del> 591.51	137.95	413.85
71	Romac SS1, O.D. x specified length in the following size: 8" (7.95 - 9.70) x 6".	2	Each	<del>96.68</del>	<del>193.36</del>	<del>67.87</del>	<del>135.74</del>
				102.96 104.65	<del>205.92</del> 209.30	76.69	153.38
72	Romac SS1, O.D. x specified length in the following size: 8" (7.95 - 9.70) x 8".	2	Each	<del>115.68</del>	<del>231.36</del>		<del>162.42</del>
				123.20 131.21	<del>246.40</del> 262.42	91.77	183.54
73	Romac SS1, O.D. x specified length in the following size: 8" (7.95 - 9.70) x 12".	2	Each	<del>185.64</del>	<del>371.28</del>		<del>260.72</del>
				<del>197.71</del> 210.56	<del>395.42</del> 421.12	147.31	294.62
74	Romac SS1, O.D. x specified length in the following size: 8" (7.95 - 9.70) x 16".	2	Each	<del>212.14</del>	<del>424.28</del>		<del>297.92</del>
	D 001 0 D 10 10 10 10 10 10 10 10 10 10 10 10 10			225.93 240.62	<del>451.86</del> 481.24	168.32	336.64
75	Romac SS1, O.D. x specified length in the following size: 12" (12.10 - 14.50) x 12".	2	Each	280.29	560.58		<del>393.6</del> 4
	D 001 OD 177 U 11 11 11			<del>298.51</del> 317.91	<del>597.02</del> 635.82	222.41	444.82
76	Romac SS1, O.D. x specified length in the following size: 12" (12.10 - 14.50) x 16".	2	Each	<del>316.93</del>	633.86		445.08
	2	14 ~	14	<del>337.53</del> 359.47	<del>675.06</del> 718.94	251.47	502.94
	Schedule	14 - Si	ubtotal:		<del>5,577.24</del> <del>5,945.08</del>		<del>3,910.87</del> 4,419.36
					6,321.49		

Fowle	mmend award of Schedule 1-5, 7-12, 16, & 18-2 er and Schedules 6, 10, 12-17 to H.D Supply War I on theirs being the most responsive. Buyer/Date	HD Fowler		H <del>D Supply Waterworks</del> Core & Main				
	SCHEDULE 15 RED							
	Brand, Make, Model			Tyler U	nion, C110	Tyle	r Union	
77	4" Mechanical Joint x 3" Flange Reducer, Ductile Iron (Cement Lines) less assessories	6	Each	116.81 134.33			371.04	
78	8" Mechanical Joint x 6" Flange Reducer, Ductile Iron (Cement Lined) less accessories.	2	Each	<del>161.55</del> 191.53		161.55	323.10	
79	12" Mechanical Joint x 10" Flange Reducer, Ductile Iron (Cement Lines) less accessories.	2	Each	608.57	1,217.14		262.38	
	Schedule	15 - S	ubtotal:	699.86	<del>2,241.10</del>		956.52	
	SCHEDU	JLE 16	5 SL	EEVES	2.588.76			
	Brand, Make, Model			Tyler U	nion, C153	Tyler	r Union	
80	6" Mechanical Joint x Mechanical Joint Long Pattern Solid Repair Sleeve, Ductile Iron (Cement Lined) less accessories.	2	Each		118.18		88.90	
81	6" Mechanical Joint x Mechanical Joint Short Pattern Solid Repair Sleeve, Ductile Iron (Cement Lined)	4	Each	67.95 44.45	135.90 177.80		236.36	
	less accessories.			51.11	204.44			
82	8" Mechanical Joint x Mechanical Joint Long Pattern Solid Repair Sleeve, Ductile Iron (Cement Lined) less accessories.	2	Each	97.04	<del>194.08</del>	58.01	116.02	
	8" Mechanical Joint x Mechanical Joint Short Pattern			111.60	223.20			
83	Solid Repair Sleeve, Ductile Iron (Cement Lined) less accessories.	4	Each	<del>58.00</del>	232.00		388.16	
84	12" Mechanical Joint x Mechanical Joint Long Pattern Solid Repair Sleeve, Ductile Iron (Cement Lined) less accessories.	2	Each	156.13		156.13	312.26	
	Schedule	16 - S	ubtotal:	179.55	359.10 1,034.32		1,141.70	
	SCHEDULE 17 ACCESSOR	V PAC	KS MI	FACH IOINT	1,189.44			
	Brand, Make, Model	1 1 1 1 1 0	110, 1-1,		ip Ring, Roma			
	3" Romac Grip Accessory Pack (incl. Romagrip			Grip, 6	500 Series	Romac, Ro	magrip & 611	
85	gasket, nuts & T-bolts) Romac Part #248-03	5	Each		132.30		124.65	
				<del>28.18</del> 30.01	140.90 150.05		140.85	
86	4" Romac Grip Ring Accessory Pack for Ductile Iron Pipe and C-900, Catalog #4" GRAP-DI.	20	Each		652.00		611.20	
				34.72 36.98	<del>694.40</del> 739.60		690.60	
87	6" Romac Grip Riong Accessory Pack for Ductile Iron Pipe and C-900, Catalog #6 GRAP-DI.	70	Each	<del>37.90</del>	<del>2,653.00</del>	<del>35.53</del>	<del>2,487.10</del>	
				40.36 42.98	<del>2,825.20</del> 3,008.60		2,810.50	
88	8" Romac Grip Ring Accessory Pack for Ductile Iron Pipe and C-900, Catalog #8 GRAP-DI.	30	Each	<del>54.02</del>	1,620.60	<del>50.65</del>	<del>1,519.50</del>	
				<del>57.53</del> 61.27	<del>1,725.90</del> 1,838.10		1,716.90	
89	12" Romac Grip Ring Accessory Pack for Ductile Iron Pipe and C-900, Catalog #12" GRAP-DI.	10	Each	105.74	1,057.40		991.40	
				<del>112.61</del> 119.93	<del>1,126.10</del> 1,199.30		1,120.30	
90	4" Romac Style 611 Bell & Spigot Pipe Restraint System for PVC and Ductile Iron Pipe Joints	3	Each	39.87	119.61	<del>37.77</del>	113.31	
				<del>42.46</del> 45.22	<del>127.38</del> 135.66		128.04	
91	6" Romac Style 611 Bell & Spigot Pipe Restraing System for PVC and Ductile Iron Pipe Joints.	15	Each		<del>793.05</del>		743.40	
<u> </u>	0" Domos Ctulo 611 Dell & Carley D' D			<del>56.31</del> 59.97	<del>844.65</del> 899.55		840.00	
92	8" Romac Style 611 Bell & Spigot Pipe Restraing System for PVC and Ductile Iron Pipe Joints.	8	Each	<del>85.67</del>	685.36		642.48	
				<del>91.24</del> 97.17	<del>729.92</del> 777.36	101.19	809.52	
	Schedule	17 - S	ubtotal:		<del>7,713.32</del> <del>8,214.45</del>		<del>7,233.04</del> 8,256.71	
1			8, <del>214.45</del> 8,748.22		0,∠50./1			

Fowler	I recommend award of Schedule 1-5, 7-12, 16, & 18-20 to H.D. Fowler and Schedules 6, 10, 12-17 to H.D Supply Waterworks based on theirs being the most responsive.  Buyer/Date			HD Fowler		HD Supply Waterworks Core & Main	
	SCHEDULE 18F	IELD	FLANG	E - UNI-FLAI	NGE		
	Brand, Make, Model				r, Piranha er Box, Series	Tyler Unio	n, Uni Flange
93	3" Field Flange	2	Each	25.92	51.84	41.30	82.60
94	4" Field Flange	2	Each	33.83	67.66	58.22	116.44
95	6" Field Flange	2	Each	39.33	78.66	62.35	124.70
96	8" Field Flange	2	Each	69.41	138.82	73.27	146.54
97	12" Field Flange	2	Each	159.81	319.62	183.09	366.18
98	3" Field Lock Gasket	2	Each	42.78	85.56	33.15	66.30
99	4" Field Lock Gasket	2	Each	<del>37.90</del>	<del>75.80</del>	37.08	74.16
				40.36 42.98	<del>80.72</del> 85.96		
100	6" Field Lock Gasket	2	Each	54.25	108.50	66.51	133.02
				<del>57.78</del>	<del>115.56</del>		
101	8" Field Lock Gasket	2	Each	61.53 72.49	123.06 144.98	88.52	177.04
101	o Field Lock Gasket	_	Lacii	77.20	154.40	00.32	177.04
				82.22	164.44		
102	12" Field Lock Gasket	2	Each	119.04	<del>238.08</del>	116.52	233.04
				126.78 135.02	<del>253.56</del> 270.04		
	Schedule 18 - Subtotal:			133.02	1,309.52		1,286.98
					<del>1,346.40</del> 1,385.66		
	SCHEDULE 19 VALVE BOX	PART:	S - CAS	T IRON (Don			
	Brand, Make, Model			Olympic I	oundry, 940	Olympic F	oundry, 940
103	Valve Box Tops 8" 940 Top (Irrigation) Domestic	25	Each	28.50	712.50		0.00
103-A		25	Each	15.74	393.50	18.21	455.25
104	Valve Box Tops 18" 940 Top Cast Iron, Domestic	25	Each	42.84 22.74	1,071.00	45.60	1,140.00
104-A 105	Valve Box Tops 18" 940 Top Cast Iron, Import Valve Box Bottoms - 36" Cast Iron, Domestic	25 25	Each Each	67.06	568.50 1,676.50	25.83 74.46	1,861.50
105-A	·	25	Each	25.74	643.50	36.13	903.25
106	Lid Only: round lid with "Water" logo - 940 Style, Domestic	25	Each	14.58	364.50		383.75
106-A	Lid Only: round lid with "Water" logo - 940 Style, Import	25	Each	8.42	210.50	9.78	244.50
107	Lid Only: round lid with "Irrigation" logo - 940 Style, Domestic	25	Each	16.15	403.75		0.00
107-A	Lid Only: round lid with "Irrigation" logo - 940 Style, Import	25	Each	10.16	254.00	9.78	244.50
108	12" Extension Cast Iron, Domestic	15	Each	69.06	1,035.90		0.00
108-A	12" Extension Cast Iron, Import	15	Each	24.95	374.25	28.21	423.15
109	18" Extension Cast Iron, Domestic	1	Each	71.01	71.01		0.00
109-A	18" Extension Cast Iron, Import	1	Each	71.01	71.01		0.00
	Schedule SCHEDULE 20 I			DC - CAST ID	7,850.42		6,301.65
	Brand, Make, Model	AVIN	IG KISE		oundry, 940	Olympic F	oundry, 940
110	1" Drop in Paving Riser Cast Iron	1	Each	13.16	13.16		18.18
	2" Drop in Paving Riser Cast Iron	1	Eash	19.32	19.32		21.59
112	2 1/2" Drop in Paving Riser Cast Iron	1	Each	22.84	22.84	25.00	25.00
	Schedule	20- S	ubtotal:		55.32		64.77

I recommend award of Schedule 1-5, 7-12, 16, & 18-20 to H.D. Fowler and Schedules 6, 10, 12-17 to H.D Supply Waterworks based on theirs being the most responsive.  Buyer/Date	HD Fowler	HD Supply Waterworks Core & Main	
Subtotal:	<del>\$76,666.56</del>	<del>\$70,849.59</del>	
	<del>\$78,628.61</del>	\$74,311.91	
	\$83,788.93	, ,,,	
Freight - FOB Destination:	INCLUDED	INCLUDED	
8.2% WSST:	\$6,286.66	\$5,809.67	
	<del>\$6,447.55</del>	\$6,093.58	
	\$6,870.69		
Total:	<del>\$82,953.22</del>	<del>\$76,659.26</del>	
rotai.	<del>\$85,076.16</del>	\$80,405.49	
	\$90,659.62		
	<del>\$46,598.12</del>	\$31,083.18	
AWARDED AMOUNT:	<del>\$48,745.25</del>	\$34,829.41	
(Per Bidder with Tax)	\$51,759.68		
	<del>\$65,</del> 9	28.86	
BID VALUE:	<del>\$76,6</del>	<del>54.16</del>	
(with Tax)	¥ -7		
Payment Discount/Terms:	0	0	
Delivery Days:	21 Days	10 Days	
Comments:	Non-stock material could exceed 10 business days.	Delivery in 10 days as per manufacture stock availability.	